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Fig.(i) At each site primary induced moment due to external field 
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Fig. (iii)


Cavity Field





Fig. (ii): IVE field (primary moment +from the neighbors within IVE)





If this ICF is calculated using the resultant of primary moment and the IVE contribution, then, the ICF would be different for different locations within the specimen. Hence calculating at any one of the sites cannot be taken as typical, and same for all the other sites. (1) then, if the other sites all including the ICF also for such a calculation the result would be different.


(2)At any location the ICF would depend upon where (with respect to the shape of the specimen) it is located referring to the outer boundary of the specimen.





Cavity field is contributions from the bulk only. The bulk is made up of the primary moments in the illustration above. Why the resultant (of primary moment + IVE field) cannot be considered for the effect of the bulk contribution as depicted below?





CONTRIBUTION from out side IVE (bulk) to the central point at IVE








